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1. Use the definition to find the Laplace transforms of -(L {":(Q"B - S o © 5’ ) de

(a) f(t) = e, where a is a nonzero real number.

A_
- t "”(a-s)‘b ) &
iiﬁ 3- Ste} - e ,,Q,\m (a-$)
L L § 50

(-t 5= P (a-s) A
~ Dwm L e \ - Lim 2 le — |

- ,if S50 (a-3<0)

(!

o . 1§ 5¢a
L{e"“‘}: L (pronided 529)

S-o

(b) f(t) = cos(bt), where b is a nonzero real number.
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2. Find the inverse Laplace transform of the following functions

(a) F(s)= — o iiematwﬂ}: F(s-w) %o FO=7F54ot
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3. Use the Laplace transform to solve the initial value problem

y'+3y +2y=4t, y(0)=1, ¢ (0)=0.
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4.
y" 4+ 9y = cos3t, y(0)=0,y'(0) = 1.
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